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= 1,184,467 974,098 210,369
= 50,000 50,000 0
< 1,621,198 1,585,838 35,360
Al 6,208,728 5,728,017 480,711
SE dE=s4 3,324,771 3,011,732 313,039
= 913,357 754,988 158,369
s 50,000 50,000 0
< 513,598 493,238 20,360
Al 1,847,816 1,713,506 134,310
sEX&0Igt =4 452,245 452,245 0
= 27,503 27,503 0
< 109,220 109,220 0
Al 315,522 315,522 0
AIEHERNUSEsASH(HEAY)(EX) 100,000 100,000 0
< 50,000 50,000 0
Al 50,000 50,000 0
202 44l 0 1,000 A 1,000
< 0 500 A 500
Al 0 500 A 500
01 = LH A HI 0 1,000 A 1,000
Ot =2 AU g2 4 0& 0 1,000 A1,000
=) 0 500 A 500
Al 0 500 A 500
301 LeE2H S 0 1,000 A1,000
< 0 500 A 500
Al 0 500 A 500
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=) 0 500 A 500
Al 0 500 A 500
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Al 50,000 49,000 1,000
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& 187,328 166,968 20,360
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o B4Il Yxtz 600, 0002 *3CH 1,800 0 1,800
401 NEHIL 2 THYI 70,000 0 70,000
01 Al&t bl 70,000 0 70,000
OUFSEI2 L HRAL &X 70,000,0008 70,000 0 70,000
405 Thab3 St 15,000 0 15,000
IR EEEE 15,000 0 15,000
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= 109,655 89,295 20,360
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2 69,500 9,500 60,000
= 241,300 223,300 8,000
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= 0 800 A 800
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= 60,000 0 60,000
=) 18,000 0 18,000
Al 42,000 0 42,000
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= 60,000 0 60,000
=) 18,000 0 18,000
Al 42,000 0 42,000
01 AL ESH SH 120,000 0 120,000
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= 60,000 0 60,000
= 18,000 0 18,000
Al 42,000 0 42,000
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O&IJI=&0 ¢ 254,000,000 254,000 0 254,000
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= 43,860 51,860 A 8,000
< 1,800 4,800 A 3,000
Al 64,700 64,700 0
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= 1,750 4,000 A2,250
Al 1,750 4,000 A2,250
sg3g 2&E X 15,000 26,000 A 11,000
= 9,000 17,000 28,000
< 1,800 4,800 23,000
Al 4,200 4,200 0
307 21201 & 15,000 26,000 A 11,000
= 9,000 17,000 A8,000
S 1,800 4,800 A 3,000
Al 4,200 4,200 0
02 2t F &AL 15,000 26,000 A 11,000
O=sZZ XA 15,000, 000& 15,000 26,000 A 11,000
= 9,000 17,000 8,000
= 1,800 4,800 A 3,000
Al 4,200 4,200 0
HHR2IZH (s 43,400 33,800 9,600
Jl2ddl(sEX ) 41,400 31,800 9,600
2t (sEXH ) 41,400 31,800 9,600
202 Oddl 37,200 27,600 9,600
01 = LH 4 Hi 37,200 27,600 9,600
OZSE =80 100,000& 31 «123] 37,200 27,600 9,600
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BENE (=X 84,366 73,565 10,801
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